





























































































































EXAM PAPER 2015
SCHOOL : CHU

SUBJECT : P6 SCIENCE

TERM : CA1
Q | a2 Q3 Q4 Q5 Q6 Q7 Qs Q9 Q10
2 4 4 3 3 1 4 4 4 3
Q11 Q12 Qi3 Q14 Q15 Qil6 Q17 Q18 Q19 Q20
3 ¥ - i-8 3 1 3 3 4 3 2
Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28 Q29 Q30
2 2 4 4 3 4 3 1 4 4

31)a)Johnson should provide air, water and light for all the seeds so
that there will only be | changed variable-the temperature the seeds
are placed in.

b)Seed R. Seeds need oxygen, water and warmth to germinate.
Seed R was provided with air that has oxygen, water and warmth.

32)a)To find out if the length of the wing-like structure affects the
time taken for the fruit to reach the ground.

'b)The Chapteh is supposed to stay suspendedv in the air for as long
as possible. The shorea fruit is dispersed by wind so it is able to stay in
the air for a long time. The feathers attached are like the wing-like
structures of the shorea fruit which helps to keep it in the air for a

longer time.













